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QUESTION 1

Which four statements are true about database instance behavior? (Choose four.) 

A. An idle instance is created when a STARTUP NOMOUNT is successful 

B. All dynamic performance views (v$ views) return data when queried from a session connected to an instance in
NOMOUNT state 

C. The consistency of redo logs and data files is checked when mounting the database 

D. Redo log files can be renamed in MOUNT state 

E. An SPFILE can be updated when connected to an idle instance 

F. Datafiles can be renamed in MOUNT state 

Correct Answer: CDEF 

 

QUESTION 2

Your database supports an online transaction processing (OLTP) workload in which one of the applications creates a
temporary table for a session and performs transactions on it. This consumes a lot of undo tablespace and generates
lots of redo. 

Which two actions would you take to solve this problem? (Choose two.) 

A. Increase the size of the temporary tablespace. 

B. Enable Automatic Memory Management (AMM). 

C. Enable undo retention guarantee. 

D. Enable temporary undo for the database. 

E. Increase the size of the redo log buffer. 

Correct Answer: AD 

 

QUESTION 3

Your database is open in read/write mode and multiple users are connected to the database instance. 

You execute the following command: 

SQL> ALTER SYSTEM ENABLE RESTRICTED SESSION; 

What would be the effect on current sessions? 

A. They are not terminated but may only issue queries. 
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B. They are not affected. 

C. They are terminated immediately. 

D. They are terminated after completing the transaction. 

Correct Answer: B 

 

QUESTION 4

You want to create a database and you have the following: 

-

Oracle Grid Infrastructure is installed and configured. 

-

Oracle Database Vault is installed in ORACLE_HOME to be used for this database. 

-

Oracle Enterprise Manager Cloud Control is available and an agent is deployed on the database server. 

Examine the requirements: 

1.

 configuring the database instance to support shared server mode 

2.

 using Automatic Storage Management (ASM) for storing database files. 

3.

 configuring a naming method to help a remote user connect to a database instance 

4.

 configuring the Fast Recovery Area 

5.

 configuring Database Vault 

6.

 configuring Enterprise Manager (EM) Database Express 

7.

 registering with EM Cloud Control 

8.
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 configuring remote log archive destinations 

9.

 enabling daily incremental backups 

10.

 configuring a nondefault block size for nondefault block size tablespaces 

Which of these requirements can be met while creating a database by using the Database Configuration Assistant
(DBCA)? 

A. 1, 2, 4, 5, 7, 8, 9 and 10 

B. 1, 2, 4, 5, 6 and 7 

C. 1, 2, 3, 8, 9 and 10 

D. 1, 2, 3, 4, 6, 8, 9 and 10 

E. 1, 2, 4, 5, 6, 7 and 8 

Correct Answer: D 

 

QUESTION 5

Which two utilities can NOT configure a new listener on port 1526? (Choose two.) 

A. dbca 

B. asmca 

C. netca 

D. netmgr 

E. lsnrctl 

Correct Answer: CE 

Reference: https://community.oracle.com/thread/3781791?start=15andtstart=0 
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